Romans 5:16



- is the emphatic use of the conjunction KAI, meaning “Indeed, In fact, Certainly.”  Then we have the absolute negative adverb OUCH, meaning “not.”  This is followed by the comparative conjunction HWS, meaning “as, like.”  Then we have the preposition DIA plus the ablative of agency from the masculine singular cardinal adjective HEIS, used as a substantive and meaning “through the one” and referring to Adam.  This is followed by the genitive masculine singular aorist active participle from the verb HAMARTANW, which means “to sin.”

The aorist tense is a culminative aorist, which regards the action of Adam’s original sin as a fact from the standpoint of its conclusion.  This is brought out in translation by use of the English helping verb “having.”

The active voice indicates that Adam produced the action of sinning.


The participle is circumstantial and translated “having sinned.”
Then we have the nominative subject from the neuter singular article and noun DWRĒMA, which means “the gift” and refers to our Lord Jesus Christ.  There is no verb, but the verb EIMI = “[is]” is implied by ellipsis from the context.  We could use the verb EIMI, meaning “the gift is not like.”  Literally this says, “In fact the gift is not like through the one who sinned,” which still leaves us with an incomplete thought in the English.  Therefore, we have to add another subject and verb to complete the meaning of the thought in English.  The phrase “[what occurred]” or “what exists” seems to complete the thought best.
“In fact the gift [Jesus Christ] [is] not like [what occurred] through the one having sinned.”
 - is the explanatory use of the postpositive conjunction GAR, meaning “For” with the Attic Greek construction MEN…DE, meaning “on the one hand…on the other hand.”  Then we have the nominative subject from the neuter singular article and noun KRIMA, which means “judicial verdict.”
  This is followed by the preposition EK plus the ablative of cause (which indicates the reason for the action of the verb) from the masculine singular cardinal adjective HEIS, used as a substantive and meaning “because of the one” and referring back to the previous use of the same word, meaning “the one transgression or sin.”  Then we have the preposition EIS plus the accusative of result from the neuter singular noun KATAKRIMA, meaning “resulting in the condemnation and punishment.”  There is also no verb in this clause.  It must be supplied by ellipsis.  The verb EIMI will work, but in English we would say that the judicial verdict “[came]” because of one transgression rather than saying that the judicial verdict was because of one transgression.
“For on the one hand the judicial verdict [came] because of one transgression resulting in the condemnation and punishment,” 

 - is the other half of the MEN…DE construction, meaning “on the other hand.”  Then we have the nominative subject from the neuter singular article and noun CHARISMA, meaning “the gift” and referring to the salvation work of Jesus Christ on the cross.  This is followed by the preposition EK plus the ablative of cause from the adjective POLUS, meaning “because of many” and the noun PARAPTWMA, meaning “transgressions.”  Finally, we have the preposition EIS plus the accusative of result from the neuter singular noun DIKAIWMA, meaning “a judicial act of justification.”  Nouns that end in MA express the result of an action, and Paul used this word here as a result of the action of being justified by faith in Christ.  DIKAIWMA is equivalent in meaning to which means “justification.”
  Again we have no verb and must supply the verb “to give,” since that is what God does with a gift.
“but on the other hand that gracious gift [was given] because of many transgressions resulting in a judicial act of justification.”
Rom 5:16 corrected translation
“In fact the gift [is] not like [what occurred] through the one having sinned.  For on the one hand the judicial verdict [came] because of one transgression resulting in condemnation and punishment, but on the other hand that gracious gift [was given] because of many transgressions resulting in a judicial act of justification.”
Explanation:
1.  “In fact the gift [Jesus Christ] [is] not like [what occurred] through one having sinned.”

a.  Paul continues with his explanation noting something that is very important to which we must pay attention.

b.  The gift is Jesus Christ as mentioned in the previous verse.

c.  The gift of Jesus Christ as a substitute for us is not at all like what occurred through the sinfulness of Adam.  How are they different?



(1)  The most important difference between what Adam did and what our Lord did was what motivated them.




(a)  Adam was motivated by his love for his wife.




(b)  Our Lord was motivated by His love for God.



(2)  Another important difference was obedience.




(a)  Adam was obedient to his wife.




(b)  Our Lord was obedient to God the Father.



(3)  There was also a difference in decision.



(a)  Adam made a decision to try and benefit himself.




(b)  Our Lord made a decision to benefit everyone but Himself.



(4)  There is also a difference in applicability.




(a)  Adam’s decision applies to all human beings.




(b)  Our Lord’s decision, though available to all, applies only to those who believe.



(5)  There is a difference in action.




(a)  Adam’s action was passive in nature—he received the fruit from his wife.




(b)  Our Lord’s action was active—He offered Himself as a substitute for us.



(6)  There was a vast difference in result.




(a)  The result of Adam’s decision was the spiritual death of everyone.



(b)  The result of our Lord’s decision was the availability of eternal life to anyone who believes in Him.



(7)  There was a tremendous difference in the sin involved.




(a)  Adam committed one personal sin.




(b)  Our Lord was judged for billions and billions of personal sins.

2.  “For on the one hand the judicial verdict [came] because of one transgression resulting in condemnation and punishment,”

a.  Paul continues with an explanation of his previous statement.

b.  On the one had the judicial verdict from the justice of God occurred because of one transgression or personal sin.

c.  That one personal sin resulted in the condemnation of mankind and punishment of the entire human race.


d.  There was a judicial verdict against both Adam and our Lord because of spiritual death.  God judges spiritual death wherever it is found, even when it is found in the humanity of Christ.


e.  Adam made a personal decision to reject the love of God and then violate the will of God.


f.  That one transgression of the known will of God resulted in condemnation from the justice of God with resultant punishment.


g.  The justice of God does not condemn without punishing.


h.  Since mankind is condemned at physical birth by the justice of God, the punishment of spiritual death is the second death in the eternal lake of fire.

i.  The only way mankind can be saved from this punishment is by believing in the person and work of Christ on the cross.


j.  When we believe in Christ the condemnation is removed along with the punishment.


k.  Transgression of the will of God demands condemnation from the justice of God; and condemnation from the justice of God results in punishment from the justice of God.


l.  What the righteousness of God demands, the justice of God executes.



(1)  The righteousness of God demands condemnation of sin.



(2)  The righteousness of God demands punishment of sin.



(3)  The righteousness of God demands a sacrifice for sin.



(4)  The love of God provided the only possible sacrifice that would work.



(5)  The righteousness of God judged all sin in that sacrifice.



(6)  The love of God offers salvation from condemnation and punishment to all.
3.  “but on the other hand that gracious gift [was given] because of many transgressions resulting in a judicial act of justification.”

a.  The judicial verdict of condemnation and punishment came because of one personal sin, but the gracious gift of our Lord Jesus Christ was given because of all the personal sins of the human race.

b.  The gracious gift is our Lord Jesus Christ having all our personal sins imputed to Him on the cross and judged.

c.  God the Father gave our Lord to the human race as the greatest gift God could possibly give to mankind.


d.  The love of God always gives the highest and best.  The highest and best was our Lord Jesus Christ.


e.  If God has already given the highest and best gift to us in the person and work of our Lord on the cross, then it is easy for Him to do any and everything else for us.


f.  If God has already done the most for us, He will certainly not withhold the less.


g.  The gracious gift of our Lord being judged as a substitute for us was given because of our many personal sins.

h.  The result of a person receiving this gift through faith in Christ is that the justice of God once again goes into action and declares that person righteous.  This is known in theology as justification.


i.  Adam’s one sin resulted in condemnation and punishment of the human race, but the gift of our Lord’s sacrifice for us resulted in the justification of those who would believe in Him.  The justice of God is involved in both cases, but with entirely opposite verdicts and results.
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